Oliver Catalog: Super 55, 550 Tractors

S|5
5(5 L.
50 Part No. Description Note
10 - Sheet Metal Hardware Kits
[] | w422 Hardware Kit, Sheet Metal
[] W433 Hardware Kit, Sheet Metal 3-digit grille
[] W434 Hardware Kit, Sheet Metal 4-digit checkerboard grille
11 - Sheet Metal Parts
[]]1198 Screw, 1/4 - 20 x 1 Slotted Rd Hd. - Stainless 2D grille strip, 2 per
[] W437 Grille emblem hardware (SS screw) #8 screw 107320A and speed nut 105203A
W429 Rubber Mount - S55 & 550 one mount with hardware; radiator shell (2), 550 Hood (5)
1E769 Grommet, Steering Column 2-1/8 OD, 1-1/2 ID, 7/16 thk steering column, PS reservoir
13 - Button Plugs
] 1214 Plug, Button 5/8 Dia. Hole plated steel
L] 1217 Plug, Button 7/8 Dia. Hole plated steel
] 1227 Plug, Button 1-1/4 Dia. Hole plated steel
[] 1228 Plug, Button 2 Dia. Hole PTO, hood (tractors with manual steering); MM: dash support, diese
(] 11225 Plug, Button 7/8 Dia. Hole (Alt 935107)
30 - Engine
B167 Plug, Oil Drain 7/8-18 UNS Hex Hd engine oil drain
B168 Seal, Oil Drain Plug 7/8 reuseable dual o-ring/crush seal
B422 E888 Governor Link - S55 550 gas governor link kit, 5-3/16;
B423 105146A Governor Link short - 550 diesel governor link kit, 4-7/16
C273 Rod End Kit, 1/4-28 Yoke Adjusting kit includes clevis pin, cotter pin, jam nut
M536 Crank, Starting also 1J536
33 - Engine Exhaust Clamps
1115 Clamp, Exhaust 1.88 (1.830-2.030) - 2030 extension for S55, 550
1116 Clamp, Exhaust 2.00 (2.080-2.280) - 2280 muffler; single bolt, pulls around for best seal
34 - Engine Exhaust Rain Caps
| | | 1163 Rain Cap, 2" Donaldson: zinc, silencer
40 - Drive Train
| | |1181 Sight Glass, 3/8" NPT transmission oil level plug
60 - Electrical, Lighting
[] 101637A Switch, Neutral Start includes mounting hardware
S710 SEMS Unit, No. 8 - 32 x 3/8 Rd Hd Slot electrical terminals, 2-digit; also S2553
1124 Battery Mat, 8"x14" protects battery tray, absorbs & neutralizes acid
0201 Tray, Battery with mounting hardware
S1550-K 900680 Battery Bolt Kit, 1/4 - 20 x 8 Hex Hd (900680)  SS; w/ flat SAE washer & wing nut; also 900680
K1394-K (1)K1394 Bolt, Battery Clamp 5/16 - 18 x 9-5/8 J-Hd w/ flat washer & wing nut
71 - Steering Wheel Nuts
915087 Nut, 1/2 - 20 Hex Jam UNF steering wheel
915090 Nut, 3/4 - 16 Hex Jam UNF steering wheel
80 - Frame, Wheels
|V |@ |H706A Bolt, Wheel 9/16 - 18 x 1-5/32 Hex Taper 1H706A, 7A706
82 - Lube, Filters
| | | 1191 Filter, Engine Oil 100125ASA (2-3/4"-4 "mason jar" thd) Donaldson; cellulose media 99% efficient @ 40 micron; diesel lengt
98 - Merchandise
@ @ | 1201 Oliver LED Lighted Sign 12" x 8", green light, includes chain for hanging

Saturday, November 21, 2020 www.oliverhardware.com Page 1 0f 2



1202

Oliver Garden Flag

One flag with emblem on each side; outdoor usage

1232

Oliver Flag, Shield "Finest in Farm Machinery"

3'x 5" indoor use

1233

Oliver Flag - Keystone

3'x 5'indoor use

1203

Oliver Switch Plate, Single Toggle

4D strg wheel logo - powder coated, UV printed, 16 ga. Metal, black

KRR &I K]
KRR &I K]

1204

Oliver Switch Plate, Double Toggle (4D grille logo)

4D grille logo - powder coated, UV printed, 16 ga. Metal, black scre

Saturday, November 21, 2020

www.oliverhardware.com

Page 2 of 2



